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= = SO. CO O3 NO2 PM10
T & a1z A | (opm) | (opm) | (ppm) | (opm) | (ug/m?)

H 0.005 0.4 0.018 0.029 44

M| [ 213, ~ 2.21. | % 0.016 | 0.7 | 0.044 | 0.063 | 122

Sy | 0.002 | 02 | 0.001 | 0.006 14

=5y ] 0.004 0.2 0.022 0.024 34

stt7] | 8.16. ~ 8.23. | | 0019 | 06 | 0.042 | 0.056 | 80

3| 0.001 | 0.1 0.004 | 0.004 7

g 0.006 0.4 0.027 0.024 51

AL | 2.22. ~ 2.27. | 0.014 1.0 0.058 0.075 128

AHE! | 0.002 0.2 0.001 0.003 15

=& 3 0.002 0.3 0.047 0.014 38

otet7| | 8.23. ~ 8.30. N 0.007 0.5 0.144 0.042 69

A| 0.001 | 0.1 0.008 | 0.004 3

H 0.007 0.5 0.030 0.029 68

Cha Aol Aty | 2.28. ~ 3.07. | % 0.018 | 1.1 0.071 | 0.082 | 144

o Al A| 0.002 | 0.1 0.001 | 0.004 13

o
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0.003 0.3 0.015 | 0.018 25

Ad, ¥

StEE7( | 8.30. ~ 9.05. 0.010 0.5 0.035 0.060 53

0.001 0.2 0.001 0.005 7

bi| bh

B 0.005 | 0.3 0.039 | 0.009 54

AEH7] | 3.08. ~ 3.14. | % 0.016 | 0.8 0.088 | 0.069 | 211

0{2I0] | 0.002 | 0.1 0.004 | 0.001 6

ths2 3 0.003 | 0.2 0.016 | 0.007 19

stet7] | 9.05. ~ 9.12. | 0.007 | 0.34 | 0.050 | 0.032 40

x| 0.002 | 0.2 0.001 | 0.003 3

| 0.006 | 0.5 0.027 | 0.022 62

AEH| | 3.15. ~ 3.21. | # 0.014 | 1.7 0.066 | 0.056 | 190

=3 | 0.002 | 0.1 0.002 | 0.001 3
M=

0.003 0.2 0.022 0.011 28
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0.006 0.4 0.051 0.033 54
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B2 AL

- = SOz CcO O3 NO2 PM10
T a =371t A | (oom) | (oom) | (opm) | (pom) | (ug/m¥

Z | 0.005 0.3 0.037 | 0.020 46

aa | L 327.~401 | A | 0.016 0.6 0.082 | 0.060 96

7?[1‘;; A | 0.002 0.1 0.002 | 0.003 15

B HA | 0.004 0.4 0.037 | 0.018 47

a8k | 917. ~9.23. | Zh | 0.010 0.5 0.079 | 0.039 72

x4 | 0.002 0.1 0.003 | 0.002 3

HA | 0.003 0.4 0.039 | 0.019 44

31 AMEEI] | 4.02. ~4.08. | M | 0.012 0.8 0.079 | 0.059 113

Cha 2ot 4 | 0.000 0.1 0.005 | 0.003 4

Alal e Ha# | 0.003 0.3 0.028 | 0.018 40

o A4 | stEEY| | 10.21. ~10.28. | ECf | 0.007 0.7 0.053 | 0.057 121

Mg x4 | 0.000 0.1 0.001 | 0.004 7

A< H# | 0.002 0.3 0.033 | 0.019 46

A4 oo | JEII | 412.~419. | Ao | 0009 | 0.5 | 0.068 | 0.051 135

E ﬂ;{ A | 0.000 0.2 0.001 | 0.004 14

E el A | 0.003 0.2 0.018 | 0.017 34

o st8b7| | 9.23. ~9.30. | Zcf | 0.012 0.4 0.066 | 0.041 69

A | 0.002 0.1 0.000 | 0.005 7

H& | 0.002 0.3 0.034 | 0.020 41

| AU 419~ 4260 | EHOH | 0.009 0.5 0.064 | 0.060 97

fH;H Z 4 | 0.000 0.2 0.001 | 0.004 5

g_% HF | 0.003 0.1 0.021 | 0.016 41

stek7| | 10.11. ~10.15. | Zch | 0.010 0.2 0.051 | 0.046 92

Z 4 | 0.000 0.0 0.001 | 0.000 6

=7 | 0.003 0.3 0.035 | 0.014 44

AgE7| | 513. ~520. | Zch | 0.011 0.5 0.072 | 0.057 116

) x| ) A | 0.001 0.2 0.009 | 0.003 12

= HZ | 0.001 0.1 0.018 | 0.015 30

&t8E7| | 10.15. ~ 10.18.| Zcf | 0.007 0.8 0.051 | 0.030 63

Z4A | 0.000 0.0 0.002 | 0.003 13

A | 0.003 0.3 0.029 | 0.024 46

Ly | HETI | 426 ~502 | A | 0.011 0.6 0.069 | 0.066 93

stp A e A | 0.001 0.2 0.001 | 0.006 7

SIEIN ;E HA | 0.004 0.3 0.018 | 0.018 38

- st8E7| | 9.30. ~10.4. | Zof | 0.012 0.4 0.038 | 0.039 73

%A | 0.003 0.2 0.001 | 0.007 17

BAF | 0.008 0.4 0.039 | 0.026 63

Ast AEb| | 5.03. ~5.13. | Zf | 0.084 0.8 0.078 | 0.069 138

K Z 4 | 0.001 0.2 0.002 | 0.005 22

otmte BT | 0.002 0.3 0.017 | 0.036 69

5tEE7| | 10.29. ~ 11.04.[ Zcf | 0.007 0.7 0.054 | 0.069 157

| A | 0.000 0.1 0.000 | 0.008 33

X HA | 0.002 0.3 0.015 | 0.033 36

o, AEb7| | 6.18. ~6.25. | Z[CH | 0.010 0.6 0.050 | 0.058 81

§$ A | 0.000 0.1 0.002 | 0.008 9

= Ha | 0.002 0.2 0.017 | 0.025 38

= at8b7| | 11.04. ~11.11.[ Zci | 0.010 0.6 0.047 | 0.061 99

4 | 0.000 0.0 0.001 | 0.003 3
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